Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18MBAI11
First Semester MBA Degree Exammatlon Jan./Feb. 2021
Management and orgamzatlonal Behavior

Time: 3 hrs. Max. Marks:100
Note: I. Answer any FObeull questions from /Qll \‘0 Q7.
2. Question No.8 is,compulsory.
1 a. Define Motivation. . (03 Marks)
b. What is decision making? Explain its types. e (07 Marks)
c. Explain thel4 pnncnplesnf management stated byﬁ\enry Fayol. (10 Marks)
/ oy R o
2 a. State few traq\s of good leaders. /.({fQ\":V, (03 Marks)
b. Briefly explam\the significance of controllmg (07 Marks)
c. Definec n ro]hng Explain with the flowchart the controllmg process. (10 Marks)
3 a (03 Marks)
b. (07 Marks)
c. advantages and disadvantages.
(10 Marks)
4 a. (03 Marks)
b. Briefly explam the recent trends in gf agement (07 Marks)
c. Whatis MBO" Explam the MBO process (10 Marks)
5.4 ks (03 Marks)
b. g @ : oy, (07 Marks)
c. 1kert Explain the Blake and Mouton’s leadership
.\.;:} : R . (10 Marks)
6 a. Whatdo you%medgn by planning prettg\Ls;es? . (03 Marks)
b. Explain the dlﬂerent disciplines eontnbutmg to OB. (07 Marks)
c. What are the different types of orgamzatlon structure? Explain any two with flowchart.
(10 Marks)
7 a. (03 Marks)
b. Explain the relatlon be,tween atutude and behavior. (07 Marks)
c. Define person lity. Explain the MBTI. How does MBT help managers? (10 Marks)
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Case Study : RAY .

Super Engineering Limited is a multinational’ engineering company manufacturing
facilities at Hyderabad, Pondicherry and Indore: The company adopted budgetary system
with emphasis on production and expense budget. The budget targets used to be set on the
basis of analysis of production facilities an yproduction operations. While 2 units located at
Hyderabad and Pondicherry were working properly Indore unit‘was not able to meet the
targets. P s W4

Mr. Madan who has been_«-»éfg @Esistant Manager at the Hyderabad unit for nearly

10 years was transferred to Indore unit as a Plant Manager. Mr. Madan had joined the

company as an Engineer T{r"hi}fllé‘e, after obtaining his-degrees in Engineering and MBA.
Right from his early days,at’the Hyderabad unit, he has been very ambitions and a little
autocratic. He believed-=in géiting the things done:through effective exercising of authority
and control. Immediately-after joining the Indore. plant, Madan made preliminary study of
the working envirﬁﬁ@ént in the plant and issued ihstruction to all Departmental Heads to
reduce the cost 5% 5%. Initially there was somé resistance by the Assistant Plant Managers
and Supervisors within a short span of30%days production went up by 10%. A fortnight
later he i};\lggr\ﬁ(‘g’ted all departments to iﬁégéase production by 20% and instructed the
supewi§pli§ stfictly to adhere to the }\argefs. He introduced several new reporting systems and
watcl}_e:d\th%%perations very closely-dHe suspended two supervisors in the second month for
not meeting the targets. Subsequeﬁ%lyfthree supervisors {eft’the plant on their own. With all
his efforts, the unit was very muchon the right track and within six months exceeded the
new budgeted figures by 18%,. On setting the pl: ;g}{t, he was called back to Hyderabad
unit as Plant Manager where vacancy arose.:However, shortly after Madan left for
Hyderabad to join the I;iggé':t unit of theaé‘pfiipany, the productivity in Indore unit fell
sharply below the ggiﬁer levels. e 7
& wy

o

Questions : & o s “ iy
Explain the type of organizational cl@;ngte’ created by Md&gp‘\at the Indore unit. (06 Marks)
Why was there'd drop in produc‘tiyit)‘f‘x‘ét"the unit after M@da\ﬁ? left it? (06 Marks)

Do you th}nk%hat Madan shoyld"fii’hprove his leadership skills? Why and how? (08 Marks)
& £ 9 o ¢ « \\A\\
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USN 18SMBA12
First Semester MBA Degree Exam ipzt}tibn, Jan./Feb. 2021
- Managerial Econ'f,o‘mics
Time: 3 hrs. Max. Marks:100
Note: I. Answer any FOURfull quemonsfrom Ql1to Q7.
2. Question No.8 is compulsory
1 a. What are Giffen goods? 2 R (03 Marks)
b. Differentiate between Fixed cost: and varlable cost. Give example (07 Marks)
c. Explain briefly the objectives ofa busmess firm. L (10 Marks)
2 a. Define Managerial Economlcs (03 Marks)
b. What is Price elastlclty of demand? What are the various prlce elasticies of demand?
; (07 Marks)
c. What are uses and Assumptlons of BEA? And explam break-even chart with diagram.
(10 Marks)
3 a. Explain features of perfect competition. . (03 Marks)
b. What are the exceptions to law of demand‘?\ (07 Marks)
C. What 1s kmked demand curve? What are its assumptuons" (10 Marks)
4 a. What are dlfferent types of costs'7 (03 Marks)
b. Discuss law of variable proportion with diagram. . ¢, (07 Marks)
c. What is economies of scale?. Elaborate the factor fluencing it. (10 Marks)
5 a. What is Accounting profit and economies proﬁt7 : & (03 Marks)
b. Explain different pricing strategies. Ty Ry, D (07 Marks)
c. Describe Baumol's. model with graphlcal representation. g (10 Marks)
6 a. Why average cost curve is U- shape ; (03 Marks)
b. Explain the, scope of Managerial Economics. (07 Marks)
c. Explain pnce determmatlon and equnhbnum under perfect competition. (10 Marks)
7 a. h \:_.lsoqunats”’ £ ¥ % (03 Marks)
b. Exp\lam the principles oft Managerlal Economics. ~ (07 Marks)
c. Whatare the roles and responsnblhtles of a'-Managenal Economist. (10 Marks)
8

Case — Study

Pepsi company roduce a single ; artxcle Following cost data is given about its product.
Sellmg srice per unit  Rs. 40

: Marginial cost per unit Rs. 24

“‘Fixed cost perannum  Rs. 16,000

Calculate :
i) P/Vratio
ii) Break even, sales
iii) Sales to earn‘a, proﬁt of Rs. 2000

iv) Proﬁt at sales Rs. 60,000 (20 Marks)

k %k k ok ok
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First Semester MBA Degree Examfnafion, JamAFets. 2021
Accounting for l\i!%hagers

Max. Marks:100

Note: 1. Answer any FO U;;,}i;l!:vquestionsfrom Q.N/:“:i ;% Q.No.7.
2. Question No. 8.is compulsory. )

(03 Marks)
(07 Marks)

Define Accounting, Y
Explain any 7 users of Accounting Information. B

Journalize the followingj‘héfféhction for the month,of DCLZOI 1.
Dec. 1 Ajit started'business with cash Rs.40,000
Dec.2  He paidinto bank Rs.2000 3

Dec. 10 Heéb%:;g‘ﬁ‘ésed furniture and paid bfﬁche\aue Rs.5000
Dec. 12 Hegsold goods to Arvind Rs.4008;0n credit.
Dec. 14 4 He purchased goods from Amrit;Rs.10,000 on credit

. 154, He returned goods to I}anrit»?RS_% i
. “'He received from Aryind;Rs.3960 in full settlgffient

2
Y

Dec.20* He withdraw cash froﬁﬁ%hsiness for perso;;;é‘f%@% Rs.2000

Dec.24  He paid telephone oharges Rs.1000 4, ‘4

Dec.26  Cash paid to Ammirit in full settlemen-Rs.4900

Dec.31  Goods distributed by way of free sagfpflb of Rs.100
g Loy ®

&7

0
: (10 Marks)

X,

Jj}“\ \V N
Differentiate Direct fax from Indirect tax. = *

X : (03 Marks)
Mention any seven deductions coveredil/S 80C. e (07 Marks)
X Ltd, bought;an machinery for Rsi30;000 on 1.04.06 'dﬂ@@iOna} machinery was purchased
on 1-10-06 costing Rs.20,000, on 1-07-07 a new machinery of Rs.10,000 was added to the
existing qaachﬁ]ery. One 1-0}5,-1:&0\ 173" of mach/iﬁ”e;nghich was installed on 1-04-06 was
sold ff%r Rs.3000. Show the imachinery accoumt, in the books of X Ltd. the rate of

depregiation is 10% on W; :V'method where the bobks of accounts ends on 31% December.
J g A, (10 Marks)

' i Ao, Ry
What is trail balanCe? S ol (03 Marks)

What is accountingeoncept? Explait \,anr‘iy six concepts in detail. (07 Marks)
Show the accburiting equation forfﬁl;}gigféllowing transactions.

(i) X starte ‘Business with cash 0fRs.90,000

(if) Purchaséd goods on credit'Rs.50,000

(iii) Purchased furniturefor cash Rs.10,000

(iv) Sold goods costing Rs.20,000 for 40,000.

(v) Sold goods coggmngs.20,000 on credit for Rs.42000

(vi) Paid rent Rs4000;

(vii) Paid for salaries\Rs.3000

(viii) Paid to creditors Rs.40,000 (10 Marks)
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What is cash ﬂow statemenﬁ
What is accountmg standard? Explain any four in brlef "
Using following data complete the B/S. ’
Gross profit (20% sales) = Rs.60,000
Share capital = Rs.50,000

Credit sales to total sales = 80%

Total asset turnover (on-sales) = 3 times
Closing stock turnover (on cost ofsales) 8 times A,

Average collection period (for 360 days) 18 days
Current ratio = 1.6

Debt to equity = 40%
‘Balance She

Liabilities Rs. [¢ “Assets
Share capital f«? “{'Fixed Asset
Long term debt &2 | Stock
Creditors % Debtors
o Cash ]
Total, ~* | ? Total 4@[“ ,
‘«z@} P
What 1§foren51c accounting? “@* Ry :

l‘

Differentiate trail balance from balance sheet. &
Enter the following transaction ip-a three column cash b@ek of Mr. A.
2016 May 3

May 5
May 6
May 8
May 10
May 12
May 15&
May 119
May 24" \Wlthdraw fro;n bauk for office use\Rs 2500

¥

Bought gobds For cash Rs.8000 e “‘z

Pald/to ‘A’ Rs.15 ,000 and ;eeelved discount Rs: 10\9 ¥
W1thdraw from bank for persf)znal use Rs. 3000

Sold goods for cash Rs{éDOO :
Pid into bank Rs. 6000;, S, A, Y

;'/

Wha\t lsgwmdow dressmg?é‘%”%‘

Balance of eash in hand Rs.12,000, c&s(b at bank Rs.10,000

Recelvedﬂcash"from ‘M’ Rs. 13000>and aliowed dlseount Rs.50

18MBA13

(03 Marks)
(07 Marks)

(10 Marks)

(03 Marks)
(07 Marks)
(10 Marks)

*‘Recelved cheque%fro%eNlraj Rs.16,000 and deposned into the bank same.

(03 Marks)
What&‘ ¢ the advantages ﬁnd Timitation of ratio analy51s'7 (07 Marks)
From the following B/S of? 5( Ltd pre areﬁcash,ﬂow statement. (10 Marks)
2006 20537 Assets 2006 2007
(Rs) .| (Rs ) (Rs.) (Rs.)
3,00 04()\}(}))“ 24,00,000 | Goodwill 1,15,000 | 90,000
Preference*s ar 1,50, 0002;1 00,000 | Land & Building | 2,00,000 | 1,70,000
General Reserves T 70,000 | Plant & Machinery | 80,000 | 2,00,000
P/L A/C 48,000 | Debtors 1,60,000 | 2,00,000
Proposed 50,000 | Stock 77,000 | 1,09,000
Creditors 83,000 | Bills Receivable 20,000 | 30,000
Bills Payable 16,000 | Cash in hand 15,000 10,000
Provision for tax” A B, 50,000 | Cash at bank 10,000 8,000
.~ 6,771,000 | 817,000 6,77,000 | 8,17,000

Additional Information:

(i) Depreclatlon on plant & machinery Rs.10,000 and land & building Rs.20,000.

(i) An mtenm dividend of Rs.20,000.
‘ was paid during the year 2007.
2 0f3




A

C.

What is Debt Equity Ratio?
b. Following is the trail balance as on
are required to rewrite in its correct form.

18SMBA13

(03 Marks)
31/12/18. Prepare by,an/incompetent accountant. You
(07 Marks)

Particulars

Debit

Capital

Stock of goods
Motor car
Discount received
Bad debts

Sales

Cash at bank
Cash in hand
Purchases
Furniture

Wages

Creditors

Salaries
Commission (Cr;, -
Return outward
Debtors ¢
General erenses
Interestrecelved

28000
4000

2806\
600,
1000 )

:f?

) 200
500

3500

§;.Jf 7 f /

7 87,800 | 65, 200& o

CASE STUDY: , ¢

W .'@*‘

( 0untmg‘7 Explain ,,lts 1mportance in the business organization.

(10 Marks)
(lﬁf ’4;5\’2\\

From the following "Rra;l Balance and addgtmmi‘i information, ]S%re“pare final accounts of Mr.

Raj for the year 3 1%March 2014. & (20 Marks)
Particulars " Rs. . ANy,
Drawing 4500 %A ' \}1\
Purchases; 20,000 | (i) Closmg stogk Rs.7000.
Sales Retum 15007 (ii) Insurance prepald Rs.60.
Stock (1-4-2013) (iii) Outstatndmg liabilities:
SaTanes Salaries.® Rs.200, Wages = Rs.200
Wages (w)&xMake provision for doubtful debts at 5% on
Rent Q d’ébtors
Cash in hand | (v) Oalculate interest on capital at 5% p.a.
Cash at bank ;| (vi) Depreciation on machinery at 5% and
Capital = VU0 Ko furniture at 10%
Sundry,eredi 10’000“19 (vii)Reserve for discount on creditors at 1%.
Trade expenses 300 |
Printing ,,1 30
Furniture ‘5000
Machinery U
Bad debts . | 400
Discount allowed, 700
Sundry debtors ‘::;5 14000
Insurance, © 400
Sales ,: 30,500
Discounts’ recelved 1900
Bills payab1e 2500

ok kG o3 kN
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USN 18MBA14
First S
eBm ester MBA Degree Exammatlon Jan./Feb.2021
i usiness Statistics and Analytl
v Max. Marks:100
; Answc:r any FOURfull quesuonsﬁ‘om Qlto Q7.
« Question No.§ is compulsory.

3. Use of Statistical table is permitted.

1

Explain the methods of com

putin corlelatl
Calculate the mean- : -

g (03 Marks)
deviation from the following data:

(07 Marks)

Quantity Demanded (units) 10720 40 {50160 100

Frequency aR{T 6 |14]19]28[ 17219
Ten competitors in a beauty:i contest are ranked by 3 Ju,dgesias follows:

Judges Competitors L Y

112134035267 [8]9]10] ¢ °

A 16|53 10[%2 [4]9 [718[1<lx

B S18149%7 110211 T6l9

C 4 9“*“’ 2 [3]10]5 57

List and eXplam common errors in drawmg"'networks
From the pnces of shares of X and\Y below find out Wthh is more stable in value.

(,.

(03 Marks)

ﬁ\ (07 Marks)
X 35 54 |52 |53 56 58 |52 |50 [a1%
Y | 108 | 107 | 105 | 105, 106 | 107 | 104 | 1033|104 | 101
Calculate Karl Pearson coefﬁment of correlation,,”
X 142 (5255|6066 [68|65]|60]58}34 &
Y[11]13 18 22 264031 [27]247 18 A, Ry
N b (10 Marks)
ce between correlat’ n and Regresglon analy51s9 (03 Marks)

In a certain factory turning out razm%blades There is asn;nall change of 0.002 for any blade
to be defect e. The blades are supplled in packets ‘of 10. Use Poisson distribution to
calcu]ate the approx1mate numbex of packets contammg 710 defective, one defective and two

(07 Marks)

mea \— 80 and standard® d X ‘

(i) “What is the probablhty that the equlpment lasts atleast 100 hours?

(ii) If the equipihent:has already 1asted\88 hours what is the conditional probability that it
will last atlea ‘another 12 hours? (10 Marks)

What are the mam objectives offanalyzmg time series? (03 Marks)

Fit a trend hne by the, method of seml averages to the data given below. Estimate the sales

for 2004.

Year | 1993 1994 l995”w1-99_6 : 19,.97 1998 | 1999 | 2000 | 2001 | 2002 | 2003

Sale | 200 | 120 280 QY 240 "1 60 |320 |360 |400 |[320 |[360 |360
(07 Marks)

The followin table shows the- age (X) and blood pressure (Y) of 8 persons.
X 52163 |45[36]72|65]47]25
Y 16253 [51125[19]43]60 33
Obtain the: reg;:essnon equation of Y on X and find the expected blood pressure of a person
who is 49 years old. (10 Marks)
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(03 Marks)
(07 Marks)
and estimate the value for the

What is transportation problem?
Explain the different method of measuring trend. :
Fit an equation of the type Y =a+bX for the following dat
ear 2007. ;
Year | 2001 | 2002 | 2003 | 2004 | 2005
Sales [30 |50 |80 110 | 170

(10 Marks)
What is Linear programming? 4 (03 Marks)
Use the graphical method to solve the following linear programming problem
Minimize Z =40x+30y
Subject to constraints 2x+6y 29 /
dx+y2
X,y > 0é ‘ (07 Marks)
The activities of a project and other related information, aré\gwcn in table below.
Activity | Optimistic time ' Most likely time | Pessimistic time
1-2 L ¢ 54
1-3 16
2-3 3
2-4 5
G e g 12
4-5 .0 14 25

6 Gohstfﬁ(:t a PERT diagram.,, ¢ A
(ii) etermme the probability: af ympletion of a project in less than 60 days. (10 Marks)

Write the difference between PERT and CPM. (03 Marks)
Construct the networksd‘ agmm for the varig ‘act1v1tles of a project and precedence

relationship between them & a’re shown in follow: (07 Marks)
Activity A [B [€ D[E[F K &%
Predecessor | 4. “»f _ |A|B|B F,G
The table below g1 35 a list of jobs apd\their duration in days ‘
(i) Draw ﬁthe fietwork and find the,“ ,ancal path and its *duratlon
(ii) Calculate,ES EF, LS, LF and*total float.
Activity % B lc dle|f #
Immedidte Predecessor | £ i~ " a | djfcre,
@_rah@n (in days) § 7 4 \m
a; 'S (10 Marks)

Fmd the initial basxc(feﬁsnble solution for\theffollowmg transportation model using,

(ii) Least cost method. 4
(iii) Vogels /proxnmat:on metho Y

£P.¥YQ R Supply "\u
A [T
B 0
C -
Demand 10

€ (20 Marks)

2 0f2
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USN

Time: 3 hrs.

1 a
b.
c.

2 a
b.
C.

3 a.
b.
C.

4 a.
b.
C.

S a.
b.
c.

6 a.
b.
c.

7 a.
b.
C.

Max. Marks:

Note: 1. Answer any FOUR}
2. Question No. 8 i

Il questions from Q.N L Q.No.7.

compulsory

(03 Marks)
marketmg planmng, vsgth approprlate 111ustrat10ns (07 Marks)
(10 Marks)
(03 Marks)
o (07 Marks)

e Macro Environmental factors that have an 1mpact on the marketing decisions.
- (10 Marks)
What is product width? g SN (03 Marks)
Explain, what is channel conﬂmt‘? Identify the. caus\ sc;,f channel conflict. (07 Marks)
Discuss the various kinds of ercmg strategles 1n‘marketmg " (10 Marks)
(03 Marks)
(07 Marks)
(10 Marks)
What*q\ ‘Nlche Marketing”?2 (03 Marks)
Descnbe the steps mvolveén p (07 Marks)
! (10 Marks)
¢, (03 Marks)
used by multinational companies to design each factor
(07 Marks)
Explain how,J the pnnmples of class1cal conditioning theory can be applied to the
development of marketmg»strategles (10 Marks)

S

What is societal copccpt? (03 Marks)
Describe product mix 8 Explam the four dimensions of product mix. (07 Marks)
Evaluate Maslow;s need hierarchy model and its marketing applications with appropriate
examples. : (10 Marks)
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CASE STUDY (compulsory)

Fogg, a late entrant in the Indian deodorant mar
instinct. Fogg identified a latent gap and creaf‘-'cf ~product to fill the gap- This category
challenger redefined the rules of the game, whmcﬁhpﬁrormsed “No Gas and More Sprays”. By
2014, Fogg was Rs.2 billion brand, and the é__'mpany Vini Cosmetics Pvt. Ltd was valued at
Rs.11 billion. However, with compctltwekgﬁ)vivmg in the market w1th entry of Oﬂ'lllerdb:aﬂgs
ad to be

like Layerr shot offenng Slmllarr preposmons the winning ”,stréak of FOGG

3
'ﬁﬁcreated quite a stir, with disruptive

&

v &
term “Category Challengers”‘7 Do you think Fogg is a

What do you understand b)ﬁ e

category challenger. Exam1 e 4 Q‘\ (05 Marks)
Discuss how the markgﬁngr,fmm of Fogg can be tweaked/mampulated to offer a unique
customer value proposxh' n. Aﬁh‘&*“h‘» (05 Marks)
Examine how customer insight, advertlsmg and‘ bending contributed to the unique
positioning strateg;%éf Fogg. & (05 Marks)

Discuss the me‘ 3 ogg should undertake 0 increase its market share. (05 Marks)
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First Semester MBA Degree Exasm:vlzgiiﬁtion, Jan./Feb. 2021
Managerial Commiunication

Time: 3 hrs. . Max. Marks:100
Note: 1. Answer any FOURfull questions from QNo,I to 7.
2. Q.No. 8 is compulsory.
1 a. Define Communication. (03 Marks)
b. Explain the process of commumcatlon with diagram? (07 Marks)
c. Explain the purpose of com)_;ﬁ_‘unlcatlon i (10 Marks)
’ ay,

2 a. Whatis Press Relea@ N, (03 Marks)
b. Whatis a Memo2 la in the structure of a Memo. v (07 Marks)

c. Whatisa Repoft@9 S 4 &, AN (10 Marks)

x FAN =% ﬁ‘\%%”

3 a. Whatis Coﬁ‘Versxon Contr01'7 § ry \J} (03 Marks)
b. Explamﬂ\“(;”s of successﬁnl&ommumcatnon" (07 Marks)

c. Whatfis; Non—Verbal commumcatron llscuss the claSSIﬁcat ﬁjn (10 Marks)

4 a. Listthe different types of cases‘f £ }2@@*‘5 (03 Marks)
b. Explain Two sides of Effeetl : }Oral Communic @%‘?J (07 Marks)

c. With reference to an advertlsmg in Times o f,%lngia write an enguiry letter to M/s Dhruv
Store, Delhi. ; o, % & N (10 Marks)

A, 3
B, P

§ a. Whatis Press Conferénce? (03 Marks)
b. Explam 3+3 wrltmg process. (07 Marks)

¢. (10 Marks)

6 a. (03 Marks)
b. fNatlonal level wa,gkshop which you are holding in your

(07 Marks)

c. (10 Marks)

Jig,h{\c’

7 a. Whatis Metacormm&glcatlon‘? Give exampled (03 Marks)
b. Briefly explam the,Beneﬁts of Intemet" (07 Marks)

c. Explain the_ 1,0115 Negotiation St?\i g;g”’ies. (10 Marks)

]
8 Case Study

“I don’t want to speak to you; connect me to your boss” hissed the American on the phone.
The young girl at Bgngal%re call centre tried to be as polite as she could.

At another call cent ,,,another day another young girl had a Londoner unleashing himself on
her. “Young/lad)/do you know that because of you Indians we are losing jobs”.

e R L TR PO P D
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N

N,

Companies involved in outsourcing both in th Syé“hd India have been getting a lot of

hatemail. Against outsourcing and it is hardly sitprising that some people would behave like
ver job looses because

this on the telephone. Indeed, the furor raised by, ,,thje Western media o .
of outsourcing has made ordinary citizens sedsitive to the fact that their calls are being taken
not from their midst but in countries such,as India and the Philippines. Although Customer
Centre Executives face angry outbursts which has a tinge of raqi@t})\}@nd sexist abuse. Senior
executives at call centres refuse tos;_gdﬁfcﬁ record for fear of klcku}gf up a controversy that

might result in their company’s é@ﬁ@?ﬁlients overseas. k:

¥

Questions : il > A, D
. Y 4 v . . N
(i) Assume you are worlgii%gfas a Senior Executive at tge customer care centre and are
receiving irate cal§§%%éﬁ would you handle such situations? (05 Marks)
(i) Does the use of suctrabusive happenings on- telephone have any impact on the
company givet N“ihsvf’ons to justify your answer. ' (05 Marks)
(10 Marks)

(iii) Explain in q@f’aé dmportance of commt}_picaﬁ
W7 Y




